Access this

COMMSCOPE®  User QR code with

a smart phone

M a n u a I to view videos

of installation

TECP-90-704 procedures.
Rev C, December 2017

[=]*

NG4access ODF Platform Splice Chassis and Splice Tray

25103-A

Content Page

1 PRODUCT DESCRIPTION . . .. .ottt et ettt e et et e et e e ettt 2

1.1 SPlCe ChasSis . . . . ..ot e 2

1 1111 1 4

2 SPECIFICATIONS . . ..ottt ettt et e e e e e e e e 5

3  GROUNDING AND BONDING THE CHASSIS. . . . ..ottt ettt et ettt et e i 6

4 INSTALLING THE SPLICE CHASSIS . . . . . .. ottt ettt e e et 6

5 POSSIBLE COMBINATIONS OF FIBER TYPES AND SPLICES . . . .. ... .. oo e et 14

6 BREAKING OUT CABLES AND INSTALLING THEM IN THE SPLICECHASSIS . . . . . . ... .. i e e 16

7 LOADING AND INSTALLING A SPLICE TRAY . . . . ..ottt e ettt e e et e e et e et 19

8 ROUTING THE FIBERS WITHIN THE SPLICE TRAY . . . . . ..ottt et e e aaeas 25

9  WHERE TO FIND OTHER INFORMATION. . . . . .ot ettt et e ittt e a e e 29

9.1 Routing of Cables on Frame. . . .. ... ... i i i et e e e e 29

9.2  NG4access Electronic Product Portal . . . ... ... ... .. e 29

10 PRODUCT SUPPORT AND TECHNICAL ASSISTANCGE . . . ... .. ittt et e it e e e nanes 30
INTRODUCTION

This installation manual describes the NG4access splice chassis and splice tray, and provides all
information needed to install the chassis and tray. Included are instructions to install the chassis
in an NG4access frame, route cables into the splice chassis, route fibers into a splice tray, install
a splice chip in the splice tray, and install a splice tray in the splice chassis.

TECP-90-704 Rev C Page 1
WWW.commscope.com © 2017 CommScope. All Rights Reserved.


http://www.commscope.com/field-support-link/fsl-ng4/
http://www.commscope.com

TECP-90-704 « Rev C * December 2017

Revision History

ISSUE DATE REASON FOR CHANGE
1 92012 Original.
2 10/2012 Added grounding/bonding note and updated for minor design changes.
3 July 2016 Rebranded for CommScope.

Rev C December 2017 Corrected rebranding error (removed QR code).

Trademark Information

CommScope is a registered trademark of CommScope Inc.

Admonishments

A
A
A

Important safety admonishments are used throughout this manual to warn of possible hazards to
persons or equipment. These admonishments — in the form of Dangers, Warnings, and Cautions
— must be followed at all times. These warnings are flagged by use of the triangular alert icon
(seen below), and are listed in descending order of severity of injury or damage and likelihood of
occurrence.

Danger: Danger is used to indicate the presence of a hazard that will cause severe personal
injury, death, or substantial property damage if the hazard is not avoided.

Warning: Warning is used to indicate the presence of a hazard that can cause severe personal
injury, death, or substantial property damage if the hazard is not avoided.

Caution: Caution is used to indicate the presence of a hazard that will or can cause minor
personal injury or property damage if the hazard is not avoided.

General Warning and Caution Statements

A

A

Danger: Avoid eye exposure to unmated connectors. Unmated connectors may emit invisible
laser radiation. Do not look directly into the end of a connector or an adapter port. Do not
inspect with a magnifying device. To ensure safety, maintain caps on unmated connectors at all
times.

Caution: Handle cables with care. Fiber optic cable stubs should be handled with care
throughout the installation procedure to avoid kinking and damage to cables.

1 PRODUCT DESCRIPTION

1.1

Page 2

Splice Chassis

The NG4access splice chassis is a fiber optic panel designed to be mounted on an NG4access
frame in an application where on-frame splicing is desired. When used to capacity, the splice
chassis accommodates 48 splice trays, each with a capacity of up to 72 mass fusion splices, for

© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

a total capacity of 3456 splices per chassis. This number corresponds to the frame capacity
when loaded with six standard chassis equipped with LC connectors. Each standard chassis
provides 576 terminations for a total of 3456 terminations per frame.

When used for single fusion splices, each splice tray provides up to 24 heat shrink fusion
splices, for a total of 1152 splices per splice chassis.

The splice chassis has features suited for high-density applications, including the following:

* Splice trays are stacked on their narrow ends, making it possible for a large number of
trays held within the chassis. Each splice tray slot has a lance point where waxed lacing
can be anchored to secure the incoming cables as they enter the splice tray.

» The splice chassis has an area below it, at the base of the frame, where slack is stored for
the network and distribution cables routed into splice trays.

* The splice chassis travels inward and outward like a drawer providing access to the cable
slack area below the splice chassis. When the chassis is extended outward, the cable
lengthens out. When the drawer is slid in, the cable loops around below the drawer.

Figure 1 shows the main components of the splice chassis. They are as follows:

TRAY (o
LANCE sLoT
POINT

(TYPICAL) \-l A

CHASSIS

25104-A

SPLICE
DRAWER

Figure 1. Main Components of Splice Chassis

* Chassis Slide—(one on each side) allows the chassis drawer to travel inward or outward
providing access to the splice trays within the splice drawer and the cable storage area
below the splice drawer.

* Tray Slot—accommodates a single splice tray, positioned on its narrow end. Each tray
slot has a dedicated lance point. Cables routed into the tray are secured with wax lacing to
the lance point.

Page 3
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

* Lance Point—provides a tie off point for cables for each splice tray.

* Covers—(not shown) conceal splice trays within the splice chassis. The chassis has a top
cover, front cover, and bottom cover (kick plate).

1.2 Splice Tray
The NG4access splice tray installs within a NG4access splice chassis on a NG4access frame.
Each splice tray occupies one of 48 available slots in the splice chassis.

The splice tray accommodates both stranded and ribbon fiber, and both mass fusion and single
fusion splice sleeves. Each splice tray holds up to 72 mass fusion splices or 24 single fusion
splices for a total capacity of 3456 mass fusion splices or 1152 single fusion splices.

The options available for fiber types and splice chips are described in Table 2 on Page 15.

Note: CommScope recommends using only connectors, jumpers, and cables that comply
with appropriate industry standards (Telecordia GR-326-CORE, GR-20, GR-409).

Figure 2 shows the physical features of the splice tray. They are as follows:

* Base—is the main component of the splice tray. It houses the cover and is used for storage
of cable and bare fiber slack which is wound around within it.

LIFT
COVER TABS

FIBER
BREAKOUT

SPLICE CHIP
LOCATION
BASE (REVERSE
SIDE)

Figure 2. Splice Tray Features

* Fiber Breakout Deck—is a flat area containing eight holes used for tying down cables
with wax lacing. This is where cable subunits are typically broken out into bare fibers.

» Cover—lifts off at either Lift Holes or Lift Tabs. It is used for storage of bare fiber and it
holds the splice chip where fibers are spliced.

Page 4
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

* Splice Chip Location—is where splices are mounted.

Figure 3. Flipped Over Gover and Base With Fibers Tied on Fiber Breakout Deck

2 SPECIFICATIONS

Table 1. NG4access Splice Chassis and Splice Tray

PARAMETER SPECIFICATION
Splice Chassis and Splice Tray
Number of splice trays per chassis Up to 48

Number of splices per splice tray

Up to 24 (single fusion); up to 72 (mass fusion)

Number of splices per splice chassis

1152 (single fusion); 3456 (mass fusion)

Splice chip types

Heat shrink (stranded fibers); mass fusion (ribbon)

Storage

6 ft. (1.8 m) of jacketed 24-fiber microcable and
OSP/IFC sub-units; additional 3 ft. (0.9 m) of

unjacketed fiber inside tray

Splice chassis dimensions

27.0x 12.4x 16.0 in. (68.6 x 31.4 x 40.6 cm)

Environment

Operating temperature

5°Ct040° C (41°Fto 104° F)

Storage temperature

—5°Cto 50° C (23° Fto 122° F)

Operating Humidity

Up to 85%

Storage Humidity

Up to 93%

Page 5

© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

3 GROUNDING AND BONDING THE CHASSIS

The splice chassis uses thread-forming mounting screws to provide an electrical path between
the chassis and the metalwork in which it is mounted. It is required that nonconductive coatings
must be removed on the mating metal surfaces. Before installation the mating surfaces must be
cleaned and coated with an antioxidant.

4 INSTALLING THE SPLICE CHASSIS

The splice chassis is installed from the rear of the frame, and always at the bottom of the frame
below the standard chassis. Before the splice chassis is installed, the frame bottom cover and
associated brackets must be removed. Use the following procedure to install the splice chassis.

1. Remove the frame bottom cover and the two brackets below the cover. Refer to Figure 4.
These items may be discarded after they are removed.

REMOVE
BRACKETS

25089-A

REMOVE
COVER

Figure 4. Removing the Frame Bottom Cover and Brackets

2. Unpack the splice chassis and ship-alongs and place them at the rear of the frame.
3. Align and secure the chassis slides as follows (refer to Figure 5):

a. Set the chassis directly behind the frame in line with the area of the frame where the
splice chassis will be installed.

b. Fully extend the chassis slides.

c. Look into the area of the frame where the splice chassis will be installed and locate the
threaded stud and two mounting holes on either side as shown in Figure 5.

Page 6
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

Slide the chassis onto the threaded studs and align the mounting holes in the chassis
with the mounting holes on the frame.

Install a #10 washer and a 10-32 nut on each threaded stud; hand tighten.

Install a #12 star washer and a 12-24 x 0.5 screw in each of the four mounting holes
shown in Figure 5; hand-tighten.

Operate the chassis inward and outward to ensure proper alignment. If needed, adjust
support brackets and fasteners installed in steps e and f to obtain smooth operation.

When smooth operation has been obtained, tighten the nut on the threaded stud to 16
inch-pounds (1.8 Newton meters). Tighten the four screws in the mounting holes to 18
inch-pounds (2.0 Newton meters).

» Note: Be sure to include the star washers as directed.

INSTALL #10
STAR WASHER

& 10-32 NUT ——

-
O@ (o) (o)
INSTALL #10
3 STAR WASHER
/”/l — &10-32 NUT
]
| 3

5]
.

INSTALL #12 — | I E— INSTALL #12
STAR WASHER STAR WASHER
& 12-24 x 0.5 & 12-24 x 0.5
SCREW (] SCREW

25120-A
REAR VIEW
Figure 5. Securing the Chassis Slides
Page 7

© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

4. With the chassis slides fully extended, install a #10 washer and a 10-32 nut on each of the
threaded studs shown in Figure 6 to secure the chassis lower support legs to the guard box
(two places). Tighten to 16 inch-pounds (1.8 Newton meters).

DA
-

’]Q? T F—" TOP VIEW

INSTALL #10 INSTALL #10 ®
WASHER AND \ D WASHER AND ¥
10-32 NUT AN 10-32 NUT |

25117-A

Figure 6. Securing Back Support Legs

Page 8
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

5. With the chassis slides fully extended, install the radius limiters as follows:
a.

Use the top view provided in Figure 7 to identify where the radius limiters will be
installed. There is one radius limiter on each side.

RADIUS
LIMITERS
(1 EACH SIDE)

TOP VIEW 25094-ARM

Figure 7. Location of Radius Limiters

Page 9
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

b. Place the radius limiters onto the threaded studs. There are three threaded studs at each
location, as shown in Figure 8.

c. Install a #6 star washer and a 6-32 nut on each threaded stud (six places).

d. Tighten each nut to 9 inch-pounds (1.0 Newton meters).

#6 STAR WASHER
(3 EACH SIDE)

RADIUS LIMITER
(1 EACH SIDE)

Figure 8. Installing Radius Limiters

25093-A

Page 10
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

6. Slide the splice chassis inward and remove the two support brackets as indicated in
Figure 9.

25096-A

REMOVE
SUPPORT
BRACKETS

Figure 9. Removing Support Brackets

Page 11
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

Page 12

7. With the chassis slides extended fully, install the top cover as follows (refer to Figure 10):

Position the top cover below the rear trough in the location shown in the figure.

Secure the top cover to the rear trough using two 6-32 x 3/16 inch screws as indicated.
Tighten to 4 inch pounds (0.45 Newton meters).

Position the tabs on each side of the top cover on the threaded studs on the frame, and
install a #10 nut and star washer on each threaded stud to secure the top cover to the
frame. Tighten to 16 inch pounds (1.8 Newton meters).

INSTALL 6-32 x 3/16 IN.
SCREWS THROUGH
REAR TROUGH (2 PLACES)

25118-A

INSTALL #10 NUTS AND STAR WASHERS
ONTHREADED STUDS (2 PLACES)

Figure 10. Installing the Top Cover

8. Install the front cover as follows

a.

Lower the front cover into place on the splice chassis as shown in Figure 11, while
positioning it on the threaded studs shown in Figure 12.

Secure the front side of the front cover to the front side of the chassis, as shown in
Figure 11, using 12-24 x 1/4 inch screws and #12 star washers (four places). Tighten
to 18 inch pounds (2.0 Newton meters).

Secure the rear side of the front cover as shown in Figure 12 using 6-32 nuts and #6
star washers (two places). Tighten to 9 inch pounds (1.0 Newton meters).

© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

FRONT
COVER

INSTALL
12-24 x 1/4 IN.
SCREWS AND
#12 STAR WASHERS
(4 PLACES)

25121-A

INSTALL 6-32 x 3/16 IN.
SCREWS THROUGH
REARTROUGH (2 PLACES)

Figure 11. Securing Front Side of Front Cover

INSTALL
6-32 NUT AND
#6 STAR WAS

g

25099-A

Figure 12. Securing Rear Side of Front Cover

Page 13
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

9. Install the bottom cover as follows (refer to Figure 13):
a. Align the bottom cover correctly by positioning the tab in the slot as shown.

b. Fasten the bottom cover to the frame on each side using a 6-32 screw and #8 star
washer (two places). Tighten to 11 inch pounds (1.2 Newton meters).

@@

f

INSTALL
8-32 SCREW AND
#8 STAR WASHER

25100-A

BOTTOM
COVER N
INSTALL
8-32 SCREW AND
#8 STAR WASHER

Figure 13. Installing the Bottom Cover

5 POSSIBLE COMBINATIONS OF FIBER TYPES AND SPLICES

Depending on application and type of cable being used, the NG4access splice tray may
accommodate 24, 48, or 72 splices. Table 2 summarizes the possible combinations of cable type
and splice method that may be used and how the cable subunits are stacked up on the fiber
breakout deck for lacing. Figure 14 shows a completed lacing stack.

* Note: For instructions on how to tie the lacing, refer to Topic 6 on Page 16.

Page 14
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

Table 2. Possible Combinations of Cable Types and Splices

MAX. LACING STACK

NUMBER LAYERS

OF CABLE FROM FEEDER CABLE FROM | (CROSS-

SPLICES STANDARD CHASSIS | NETWORK SECTION) SPLICE CHIP TYPE | COMMENT

24 2 ivory 3mm micro | 2 OSP or IFC __ Single fusion Spliced as single
cables from sub-units (each 12 .7.4 fibers, stranded
NG4access fibers, stranded, ( \*./
module (each 12 3mm)
fibers, stranded)

24 2 ivory 3mm micro | 2 OSP or IFC Single fusion Spliced as single
cables from sub-units (each 12 fibers, stranded
NG4access fibers, stranded,
module (each 12 Smm)
fibers, stranded)

48 4 ivory 3mm micro |4 OSP or IFC Mass fusion All fibers must
cables from sub-units (each 12 be manually
NG4access fibers, stranded, ribbonized prior to
module (each 12 3 mm) splicing
fibers, stranded)

72 6 ivory 3mm micro | 1 clear oval tube Mass fusion Stranded fibers
cables from containing inivory cables must be
NG4access 6 ribbons, ribbonized prior to
module (each 12 each with 12 fibers splicing
fibers, stranded)

o

72 6 ivory 3mm micro | 1 clear oval tube Mass fusion Stranded fibers
cables from containing inivory cables must be
NG4access 3 ribbons, ribbonized prior to
module (each 12 each with 24 fibers splicing
fibers, stranded)

LEGEND

O _ IVORY 3MM MICRO CABLE FROM
~ DELTAccess MODULE, STRANDED

O _ IFC OR OSP SUBUNIT, 3MM OR

5MM (AS INDICATED), STRANDED

CLEAR OVAL TUBE
~ CONTAINING RIBBON FIBER

SUCCESSIVE
LOOPS OF
LACING

Page 15

© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

Figure 14. Completed Lacing Stack in Splice Tray

6 BREAKING OUT CABLES AND INSTALLING THEM IN THE SPLICE CHASSIS

As cables for splicing are routed into the splice chassis from the area below it, the cables are tied
off with wax lacing at the tie off point for the designated splice tray slot. There is one slot for
each splice tray with a lance point for each slot as shown in Figure 15.

LANCE
POINT
(TYPICAL)

25164-A

Figure 15. Typical Lance Point in Splice Chassis

Page 16
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

Use the following procedure to prepare a splice tray.

1. Route the cables from the bottom of the frame into the area below the splice chassis and
then around the radius limiters (A) and up into the splice chassis (B), as shown in
Figure 16. Tie off the cable at the splice tray lance point (black dot in figure), with 9 feet
(8.3 m) of cable beyond that, as shown.

o
= L]

NG4Access
FRAME BASE
(TOP VIEW)

A [
B
SPLICE CHASSIS
LANCE (TOP VIEW) RIBBON, 900 MICRON,
POINT OR 250 MICRON FIBER
34 IN. (86 CM) | osParc
6.5 FT. (198 CM) | CABLE
20IN.(7aCM) | micro
| CABLE
250 MICRON FIBER

25071-A

Figure 16. Routing and Breaking Out the Cable

Page 17
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

Page 18

N

Note: For a definition of lance points, see Figure 15 on Page 16.

Extend the cable out into the open area behind the frame (in front of the splice chassis),
and break out the cable corresponding to the dimensions provided in Figure 16.

If you intend to ribbonize stranded cable, per the instructions provided in Table 2 on Page
15, complete the ribbonization using local practice.

Set up for splicing on a flat area in front of the splice chassis. Remove the splice tray
cover. Position the cover, base, and cable sub-units as shown in Figure 17.

-1 L= [—
@
1)
v
~ ()
® ® @ @
®! @
iR ° ° Lo (L,
] TR Y A |
/ @ @
jd x
—|/ ) o
@ e © @ o ® ©

LANCE
POINT

25025-A

SPLICE TRAY
COVER

BREAKOUT
DECK

Figure 17. Splice Tray Positioned for Loading

© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

7 LOADING AND INSTALLING A SPLICE TRAY

5.

Secure wax lacing and divide the cable sub-units into the “lacing stack layers” described
in Table 2 on Page 15.

» Note: Before placing a layer on the fiber breakout deck, wrap the cable at the breakout

7.

point with a small piece of felt tape cut from the six-inch length of felt tape provided with
the splice tray. For an illustration, see Figure 19 on Page 20.

Note: If there is only one layer, tie the cable directly to the breakout deck using a square
knot with an extra loop such as shown in Figure 26 on Page 23.

Cut off a length of wax lacing about 36 inches (91 cm) long and double it over to create a
double stranded wax lacing, then bend the closed end of the wax lacing up and over itself
to form a loop (Figure 18.) This is to form a cinch knot allowing the lacing be to tightened.

25011-A

Figure 18. Forming a Loop

Identify the cables to be placed in first lacing stack layer, wrap them at breakout point with
felt tape, and place them on the fiber breakout deck as shown in Figure 19. Route the wax
lacing double strand up from second hole and back through the loop, as also shown.

Page 19
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

25012-A

Figure 19. Forming a Cinch

8. Pull the double strand tight to tighten the cinch over the cable, as shown in Figure 20. The
first wax lacing stacking layer has now been tied onto the fiber breakout deck.

25013-A

Figure 20. Tightening Cinch on Cable

9. Proceed to place the second lacing stack layer onto the fiber breakout point (corresponding
to Table 2 on Page 15). Route the double strand back down through the second rear hole in
the fiber breakout point, up through the second front hole, and through the loop to form a
half hitch knot, as shown in Figure 21.

Page 20
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

25014-A

Figure 21. Forming a Half Hitch Knot

10. Pull the half hitch knot tight as shown in Figure 22. The second lacing stack layer has now
been tied to the fiber breakout deck.

25015-A

Figure 22. Tightening the First Half Hitch Knot

11. Repeat the same basic action to place the third lacing stack layer (if any) onto the fiber
breakout point and secure it with a third half-hitch knot using the third pair of holes in the

fiber breakout point, as shown in Figure 23.

Page 21
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

Note: If there are only two layers, or whenever you have tied off all layers of the cable
sub-units being spliced, proceed to step 13.

25016-A

Figure 23. Tying off the Third Layer

12. If a fourth stacking layer is present, repeat the same basic actions to tie it off at the fiber
breakout deck using a fourth half hitch knot, as shown in Figure 24.

25017-A

Figure 24. Tying Off the Fourth Layer

13. Separate the leading ends of the double strand into two single strands. Route the front
strand down through the last hole used on the front side of the deck and under the deck to

Page 22
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

the first front hole (front red dotted line in Figure 25). Route the rear strand over the cable
stack, down through the last hole used on the rear side of the deck, and then under the deck
to the first hole (rear red dotted line). Begin a final knot as shown.

25018-A

Figure 25. Starting Final Knot

14. Continue with a second wind of a square knot but add an extra twist as shown in Figure 26.
Figure 27 shows the completed knot. See also Figure 14 on Page 16.

25019-A

Figure 26. Extra Twist

Page 23
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

25020-A

Figure 27. Final Knot Completed

Page 24
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

8 ROUTING THE FIBERS WITHIN THE SPLICE TRAY

With the fibers now tied off at the fiber breakout deck, the fibers can be routed within the splice
tray as described in the following procedure.

For this, the splice tray base and cover are positioned somewhere in a work area in front of the
splice chassis as shown in Figure 17 on Page 18.

Use the following procedure to complete the splice and route the fibers within the splice tray.
1. Flip over the splice tray cover so that it is in the orientation shown in Figure 28.

2. Set up the splices in a work area below the cover, as shown in Figure 28, and complete the
splice per local practice. For the type of splice to be used, refer to Table 2 on Page 15.

a. If doing a heat fusion splice (for individual fibers), complete the splices one at a time
and place them in the designated slot in the splice tray.

b. If doing a mass fusion splice. use a piece of tape, as shown in Figure 28, to hold the
splices in place so that they can be flipped over a half turn when placed in the splice
chip. The reason for doing this is because the splice tray is subsequently flipped over
in a reverse direction when placed in the splice tray base; the two twists cancel out one
another, leaving the fibers untwisted. Flip the tape over 180 degrees, as shown, then
remove the tape and place the splices in the splice chip.

®

yd Ve \
¢ { FLIP )
¥ \ SPLICES /
I ) OVER
/ LH 6 / < f 1 k N
TAPE MICRO TAPE OSP/IFC
(ON BOTTOM) CABLE (ONTOP) CABLE

25077-A

Figure 28. Using a Piece of Tape for a Mass Fusion Splice

3. Route the fibers within the cover as shown,

Page 25
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

CABLE CABLE

25004-A

Figure 29. Routing Fibers Within Splice Tray Cover

4. Flip the tray over in a half circle with the pivot point on the top edge of the tray, where the
fibers are, as shown in Figure 30.

25005-A

Figure 30. Flipping the Cover Over

Page 26
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

5. Rotate the cover clockwise, while tucking the fibers in under the fingers in the central area

of the splice tray, as shown in Figure 31.

ROTATE H
COVER

TUCK FIBERS / /
UNDER FINGERS \A

_ TUCK FIBERS
) UNDER FINGERS

25007-A

ROTATE
COVER

Figure 31. Tucking Fibers Into Splice Tray

Page 27

© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

6. Continue rotating the cover as shown in Figure 32 until all of the fiber is wound into the
central area of the splice tray.

ROTATE
COVER

TUCK FIBERS
UNDER
” FINGERS

25008-A

Figure 32. Continue Rotating the Cover

7. When all of the fiber is wound into the central area of the splice tray, snap the cover onto
the splice tray as shown in Figure 33.

25009-A

Figure 33. Installing Cover on Splice Tray

8. Rotate the splice tray clockwise to take up the jacketed section of the cables while winding
the tray back into the splice chassis, as shown in Figure 34.

Page 28
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev G » December 2017

\\ o ©
® ®
Nl ° d AL
n——) Y oL B
® ®
- 0 \ °
o o e © e o e ©
\ 25027-A

Figure 34. Winding Splice Tray Back Into Splice Chassis

9. Route excess cable jacketing through lance points and out of splice chassis.

9 WHERE TO FIND OTHER INFORMATION

9.1 Routing of Cables on Frame

For cable routing on the rear of the frame, refer to the laminated cards hanging on the rear of the
frame. For patch cord routing, refer to the laminated cards hanging on the front of the frame.

9.2 NG4access Electronic Product Portal

The NG4access ODF Platform has a QR code label that can be read with a visual recognition
app on a smartphone to access a website product portal with links to technical assistance,
ordering information, and technical documentation. The QR code label is positioned on the
front of the frame about halfway up on the left side.

Page 29
© 2017 CommScope. All Rights Reserved.



TECP-90-704 « Rev C * December 2017

Figure 35 shows the NG4access QR code:

[=] ¥

Figure 35. NG4access QR code

10 PRODUCT SUPPORT AND TECHNICAL ASSISTANCE

To find out more about CommScope® products, visit us on the web at
http://www.commscope.com

For technical assistance, customer service, or to report any missing/damaged parts, visit us at
http://www.commscope.com/SupportCenter

COMMSCOPE

Page 30


http://www.commscope.com/

http://www.commscope.com/

http://www.commscope.com/SupportCenter
http://www.commscope.com/SupportCenter
http://www.commscope.com/SupportCenter
http://www.commscope.com/field-support-link/fsl-ng4/
http://www.commscope.com
http://www.commscope.com/SupportCenter

	Front Cover
	Table of Contents
	Introduction
	Revision History
	Trademark Information
	Admonishments
	General Warning and Caution Statements

	1 Product Description
	1.1 Splice Chassis
	1.2 Splice Tray

	2 Specifications
	3 Grounding and Bonding The Chassis
	4 Installing the Splice Chassis
	5 Possible Combinations of Fiber Types and Splices
	6 Breaking Out Cables and Installing Them in the Splice Chassis
	7 Loading and Installing a Splice Tray
	8 Routing the Fibers Within the Splice Tray
	9 Where to Find Other Information
	9.1 Routing of Cables on Frame
	9.2 NG4access Electronic Product Portal

	10 Product Support and Technical Assistance


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


